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Example §-5

As an additional example of calculation of economic life without consideration of income
taxes, suppose a certain machine has an installed price of $10,000 and the projected year-by-
year operating costs and market values shown in the table below.

— e —
Total annual inherent
Year and relative operating cost Market value

1 $3,000 $6,000
2 3,500 3,000
3 8,000 1,000
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Neglecting income taxes and assuming an interest rate of 0%, calculations for determin-
ing the most economic replacement interval are as follows.

AC (for I-year interval):
($10,000 — $6,000)(A/P, 0%, 1) + $6,000(0%) + $3,000 = $7,000
AC (for 2-year interval):
(510,000 — $3,000)(A/P, 0%, 2) + $3,000(0%)
+ [$3,000(P/F, 0%, 1) + 3.500(PIF, 0%, 2)}(AIP, 0%, 2) = $6,750
AC (for 3-year interval):
($10,000 — $1,000)(A/P, 0%, 3) + ($1,000)(0%) + [$3,000(P/F, 0%, 1)
+$3,500( P/F, 0%, 2) + $8,000( P/F, 0%, DUAIP, 0%, 3) = $7,833

Thus, replacement at two-year intervals is apparently slightly more economical than one-year
or three-year intervals. »




